b 12 Mar Jhentor?

wm«up/rw; w} a1

8.1 579) {69 =

x* @—3)
vl é‘)cv\vw:d“er? Nora . Se no )c—-:'u‘ergw.

o aapmnds? 0, 0, D
So domgm o3 all NA} CKCJ*' 0,3,
Alss o, verheel quw"m@’ X=0 and K23

Nt izoatal 4&7’;»\[\"'040.7 Yeg Y=0
=0

', ' 7&@( {( Y
LY Ty s i gy

NO  y-whsosf, Lo 0 i nit Jatha dimwy

L)z 4 X‘L(x-ﬁ"
f) = A%KE*X'ZJ. (x=3) + 4xE %{(x—)f‘}
(o = -8 X Oyt [ Gt
i

N -~ e o
~ .

- d 2 N
4/%): _gy(x-a) —H R (%)

Factor the (iﬁ.f___‘f yo- VS of x ad ot (x-3)
[{x) = -L/x*(x—ﬁizgzcx“g + x|

Vi) = g (2x-64x) _ -9(3x %D
= x’@—;\)“ T xE ()t
O = ‘VQ() _ -1z (% =2) o X200 %gmly

Xs ( X=-% SL i h\tc\[ Aumbir



Mz );. 04.02 U
.

~12(x-2)
x” (x-3)
3
— % ~+ 6 - :g -
] —¥ —
o) 2 A
\Y\U‘”&"'}/ du_laﬁ.(.")« \ /" \ \

Sign  dgrn Jor .C/(X) ol

9n £ /OQ

———

<

\;J|'\4~+' é_ e celatie w\x? we kwoo A peLvll af Xz 2

|

- - 4
Z. — ———— —_— - _‘0
@) A =T

(o pelimaw-e QY)Y = (2,7)

Ch b redand

PZL“ 3§) Mo ~hipid. can Rgt volome

Nz ’71(‘74'\ < &”II‘ ,‘43
Mirmma za the  Gres
A = 2mett2meh

se. h= 8T g = /8{’ ineh
~ v

A(“) 2 20t w2 % = 2t e

1R

o = A/((‘) Y 1ot = Yoy — 16T
r?.

L.
v\ulhpfr Lyr . 0= L/’ﬁ\l\3 —)omr D Yot 5"/b’}?‘

Why & miom? 3=
&u@[,po S h: L 8 A fM
v o R A A I B AR PR «cl«tq.




YA 17.04.0) @
o+

"D K 536 Lapheir diffoodah.
2/> 7/ & - X('/ ,(.‘MJ’JII‘Q""L?« " dﬂ(‘\y y af Q’)Cw\d‘u‘\ &[X .
dvt we doat wanf fb{VLWQ“Y'
\/“t,")L wagqt 7’!1@-& % ‘

A,[\/L] - %(Lx“‘) Nokt. x 1§ 7 ‘Adpedet \aiafie

.
CL\G('/\
W dy - 5 X dy .
¢ 27-5L = 1 alve Sy
dy - 9¥
Ax Zy
Ay

P




